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QUESTION 1

Given an application with a main module that has this module-info.java file:

module main {
eXports country;
uses country.CountryDetails;

Which two are true? (Choose two.)

A. A module providing an implementation of country.CountryDetails can be compiled and added without recompiling the
main module.

B. A module providing an implementation of country.CountryDetails must have a requires main; directive in its module-
info.java file.

C. An implementation of country.countryDetails can be added to the main module.

D. To compile without an error, the application must have at least one module in the module source path that provides
an implementation of country.CountryDetails.

E. To run without an error, the application must have at least one module in the module path that provides an
implementation of country.CountryDetails.

Correct Answer: BD

Reference: https://stackoverflow.com/

QUESTION 2

Given:

public class ConsoleTest {

public static wvold main(3tringl[] args) {
Console console System.console();
var name = conscle.readLine ("Input Name: “):

var password console. readPassword ("Input Password: ")
System.out.println("Name is: " + name +", Password 1s:

]

+ String.valueQf (password) ) ;
}

and the command:

java ConsoleTest

The user will input Duke and Java when the input is prompted.

What is the output?

A. Input Name: Duke Input Password: Name is: Duke, Password is: Java
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B. Input Name: Duke Input Password: Java Name is: Duke, Password is: Java
C. Input Name: Duke Input Password: Name is: Duke, Password is:
D. Input Name: Duke Input Password: Java Name is: Duke, Password is: [C@4f6ee6e4

Correct Answer: D

QUESTION 3

Given:

public interface InterfaceOne {
void printOne () ;

Which three classes successfully override printOne()? (Choose three.)
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public abstract class TestClass implements InterfaceOne {
public abstract void printOne ()

B.
public class TestClass implements InterfaceOne {
private void printOne() {
System.out.println("one");

c
public class TestClass implements InterfaceCne {
public void printOne () {
System.out.println("one");

D.
public abstract class TestClass implements InterfaceOne |{
public void printOne () {
System.out.println("one");
}

public abstract class TestClass implements InterfaceOne {
public String printOne () {
return "one";
}

F.

public class TestClass{
public wvoid printoOne () {
System.out.println("one") ;

A. Option A
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B. Option B
C. Option C
D. Option D
E. Option E

F. Option F

Correct Answer: ACD

QUESTION 4

Which is a valid statement?
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A. BiPredicate testEquality = (var x, Integer y) -> (x.equals(y));

B. BiPredicate testEquality = (var x, var y) -> (x.equals(y));

C. BiPredicate testEquality = var x, var y -> (x.equals(y));

D. BiPredicate testEquality = (var x, y) -> (x.equals(y));

Correct Answer: B

QUESTION 5

Given the code fragment:

int[] seca = ¢ 2, 4, 6, 8, 10 3:

int[] secB = { 2, 4, 8, 6, 10 };

int resl = Arrays.mismatch (secA, secB);
int res2 = Arrays.compare (secA, secB);
System.out.print(resl + ™ : " + resl):;

What is the result?

Correct Answer: B
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